Find The place of The underined
dgit:

| 235093

2.9483920
3.033482
H.6/2093

Multiplicartion Comparisons:

AT The carniva there were eighteen
people inine at the roller coaster
which is Three Times as maony as
were inine at the Ferris Wheel How
maony people were at The Ferris
wheel?

MUITiply:
(Use any method you want)
| 48

X35

Adartion:
| 556,098
+ 6094092

Subtraction:
| A9 0AH
-345096

MUTi=Step Word Problem:

Haley was plcnning To marathon
watch episodes of her favorite
show. The show had H5 gpisodes with
each episode lasting exactly 27
minutes. IF she planned To spend 5
days watching the show how many
minutes should she watch each day?

Round the number To the nearest
underined digit:

| 328432
2082092

Divide:
(Use any method you want)
| 54980/7

2. 2092/5

#* ASK YOUr parent To choose 2
nubers (2-20) and listT The first 6
mMuftiples of them

*#*ASK YOUr parent To choose 2
numbers and st dl of The factors
for Them.



8in.

12in

PerimeTer_____

Arestauront adaed anew outdoor
section That was H0 sq. 1. T was H
feet wide. How longis Therr new
section?

Perimeter_____



